%)

(a)

®)

(©)

(d)

(e)

( 4 ) 7209

Using the Count Values within Cases transformation, a
user can specify the following combinations of values

to count (select all that apply) :

(@) Range of values

(b) System-missing only

(¢) User-missing only

(d) Individual values 1x5
Explain the difference between the files with extension
sav and .sps in detail.

What is the difference between Sort cases and Rank
cases ? Explain with examples how the two can be
performed.

Name the command and sub-commands used to draw
a simple random sample of size 20 from given 50
observations.

What the different types of data files that can be read
in SPSS ? Can you read any ASCII file ?

Name the commands and sub-commands required to

compute the median. 25
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1. Fill in the blanks :

()
(i)

(iir)

(v)

V)

Rank option is included under ............... command.

SPSS by default aligns the text to ................ side of the

cell.

................ file is used for recalling the SPSS commands

to run different procedures.
The data editor has two Views ............... and ..o

SPSS syntax file has extension name ... 1x5



Answer the following :

@

(i)

If the null hypothesis is true, then p<.05 means :

(a)

(b

(©

(d)

the obtained result is not due to chance.

the obtained result is likely to occur by chance

95% of the time.

the obtained result is likely to occur by chance

less than 5 times in a hundred.

the obtained result is likely to occur by chance

5 times in a hundred.

In SPSS, what is the "Data Viewer" ?

(a)

(b)

(c)

@

A table summarizing the frequencies of data for

one variable.

A spreadsheet into which data can be

entered.

A dialog box that allows you to choose a statistical
test.

A screen in which variables can be defined and

labeled.

(iif)

(v)

( 3 ) 7209

In which sub-dialog box can the Chi-square test be

found ?

(a)

Frequencies : Percentages

(b) Crosstabs : Statistics

(©

Bivariate : Pearson

(d) Gender : Female

What is the advantage of a stem and leaf display over

a histogram ?

(@)

(b)

(©

@

The shape of the distribution can be seen more

clearly

It is quicker to produce

No information from the data is lost

It can be used with all data

PT.O.
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(@)

(b)

(©)
(@)

(e)

Which command has been executed ?

What coefficient has been computed between Protein

intake (PROT IN) and Calorie intake (CAL_IN) ?
How many observations are there in the study ?
What is the value of this coefficient ?

Comment on the significance of this coefficient. 5x6

PE—
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Answer any six of the following :

(@)

)

()

@

(e)

Mention the rules that are to be followed while naming

a variable.

What is the function of the following commands ?
(i) Select Cases

(if) Insert Variables

(iify Cross Tabs

(iv) Descriptive

(v) Recode.

How will you draw a systematic sample of size 5 from

50 observations ?

What are the different statistics available under

Frequency/Statistics command ?

Given a 2 » 3 contingency table on health conditions
and smoking habits, how will you run Chi-square test

for independence of attributes ?

A group of Sports Science students are selected from
the population to investigate whether a 12-week

plyometric-training programme improves their standing

P.TO.
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long jump performance. In order to test whether this
training improves performance, the students are tested
for their long jump performance before they undertake
a plyometric-training programme and then again at the
end of the programme. The following output has been

obtained :

Paired Samples Statistics

Mean N Std. Std.
Deviation Error Mean
Pair 1 Jump 1 24815 16135 03608
Jump 2 2.5155 15982 03574
Paired Samples Test
Paired Differences
95% confidence
Interval of the
difference
Mean | Std. std. | Lower | Upper | ¢ [df sig-
Deviation | Error (2-tailed)
Mean
Pair 1 Jumpl-Jump2|-.03400] 03185 |.00712|-.04891|-.01909 (-4.773 | 19 | 000

() How many cases are under study ?

7209

(ify What can be the possible null hypothesis that can

be tested ?

(i) What is the value of the calculated test statistic

and its degrees of freedom ?

©

(iv) What conclusions do we draw about the null

hypothesis ? Give reason.

Read the following outputs and analyse the

result :

Controlling for.. WEIGHT
PROT IN CAL_IN
PROT 1IN 1.0000 .9936
( 0) ( 12)
P= . P= .000
CAL _IN .9936 1.0000
( 12) ( 0)

p= .000 p=

(Coefficient / (D.F.) / 2-tailed Significance)

P.T.LQ.



